

## ON FUZZY PROGRAMMING

Marian Matłoka

Institute of Economic Cybernetics, Department of Mathematics,  
Economic Academy of Poznań, ul. Marchlewskiego 146/150,  
60-967 Poznań, Poland.

Introduction. A theory of fuzzy programming presented in this paper is quite different from the well-known fuzzy linear programming theory developed by Hannan [2], Rödder [4] and Zimmermann [5]. Using the algebraic apparatus developed in [3] it is possible to give a complete theory of fuzzy programming (e.g. [1]). At first the fuzzy programming problems are defined and described and then the fundamental duality theorem is formulated and proved. Assuming the duality theorem we prove the important "equilibrium theorem".

Using the algebraic machinery developed in the paper [3] we are going to formulate the fuzzy programming problem FP. In the fuzzy vector matrix notation which we have introduced, this problem can be written in the following form:

Given an  $m \times n$  fuzzy matrix  $A = (\{x_{ij}, a_{ij}\})$ , an  $n$ -fuzzy vector  $b = (\{y_j, b_j\})$ , and an  $m$ -fuzzy vector  $c = (\{z_i, c_i\})$ , find an  $m$ -fuzzy point  $\{a^*\}_P$  with the nonnegative support such that

$$\{a^*\}_P \cdot c \geq \{a\}_P \cdot c, \quad \forall a \in R_+^m \quad (1)$$

where  $P$  is the fuzzy subset of solution of fuzzy inequality

$$\{a\} \cdot A \leq b \quad (2)$$

and  $\{a\}_P = (\{a_i, \mu_P(a)\})$ ,  $a = (a_1, \dots, a_m) \in R^m$ .

Note that  $\{a\}_P$  is the singleton fuzzy subset.

A fuzzy programming problem FP is called feasible if there exists a fuzzy point  $\{a\}_P$  such that  $a \in R_+^m$  and  $\{a\}_P \neq \emptyset$ . Such a fuzzy point is called feasible solution. A feasible fuzzy point  $\{a^*\}_P$  satisfying the condition (1) is called an optimal solution.

The dual problem  $FP'$  is then that of finding  $n$ -fuzzy point  $\{d^*\}_{P'}$  with the nonnegative support such that

$$\{d^*\}_{P'} \cdot b \leq \{d\}_{P'} \cdot b, \quad \forall d \in R_+^n \quad (1')$$

where  $P'$  is the fuzzy subset of solution of fuzzy inequality

$$A \cdot \{d\} \geq c \quad (2')$$

Presented above fuzzy programming problem FP is called a standard FP. We can distinguish the various types of FP according to the nature of the constraints and of the optimal solution.

DEFINITION 1. Let  $A$ ,  $b$  and  $c$  be as before. The canonical fuzzy programming problem FP is that of finding a fuzzy point

$\{a^*\}_P$  with the nonnegative support such that

$$\{a^*\}_P \cdot c \geq \{a\}_P \cdot c \quad \forall a \in R_+^m, \quad (3)$$

where  $P$  is the fuzzy subset of solution of fuzzy equation

$$\{a\} \cdot A = b \quad (4)$$

Analogously, we define the canonical fuzzy problem  $FP$ , which is that of finding a fuzzy point  $\{a^*\}_P$  with the nonnegative support that  $\forall a \in R_+^m$

$$\{a^*\}_P \cdot c \leq \{a\}_P \cdot c .$$

We shall now show that the standard and canonical fuzzy problems are equivalent in the sense that either one can be transformed into the other in an obvious manner.

If we replace (4) above by the inequalities

$$\begin{aligned} \{a\} \cdot A &\leq b \\ (-1) * \{a\} \cdot A \cdot (-1) &\leq (-1) * b \cdot (-1) \end{aligned} \quad (5)$$

it is clear that we have rephrased the canonical problem as a standard problem. On the other hand, to change a standard fuzzy problem to a canonical one we replace the fuzzy inequality

$$\{a\} \cdot A \leq b \quad (6)$$

by the equation

$$\{\bar{a}\} \cdot \bar{A} = b, \quad (7)$$

where  $\{\bar{a}\}$  and  $\bar{A}$  are the fuzzy point and the fuzzy matrix which we defined in [3].

The condition (1) we replace by the condition

$$\{\bar{a}^*\}_{\bar{P}} \cdot \bar{c} \geq \{\bar{a}\}_{\bar{P}} \cdot \bar{c}, \quad (8)$$

where  $\bar{c} = (\{\bar{z}_i, \bar{c}_i\})$  is an  $(m+n)$  fuzzy vector such that

$$\forall i = 1(1)m \quad \bar{z}_i = z_i, \quad \bar{c}_i = c_i \quad \text{and} \quad \forall i = (m+1)(1)m+n \quad \bar{z}_i = 0, \quad \bar{c}_i = 1.$$

We now have a fuzzy problem  $FP$  whose constraints are fuzzy equations, and clearly  $\{\bar{a}\}$  has a nonnegative support and  $\{a^*\}_P$

subject to (1) and (6) iff  $\{\bar{a}'\}_{\bar{P}}$  subject to (7) and (8), where  $\bar{P}$  is fuzzy subset of solution of fuzzy equation (7).

The most general case FP is problem in which some  $\{a\}$  have arbitrary support and where the constraints include both equations and inequalities.

DEFINITION 2. Let  $a^1 = (\{x_{i1}, a_{i1}\}), \dots, a^r = (\{x_{ir}, a_{ir}\}), d^1 = (\{w_{i1}, d_{i1}\}), \dots, d^s = (\{w_{is}, d_{is}\})$  and  $c = (\{z_i, c_i\})$  are  $m$ -fuzzy vectors and let  $\{h_1, k_1\}, \dots, \{h_r, k_r\}, \{l_1, f_1\}, \dots, \{l_s, f_s\}$  are the fuzzy elements. Let  $\forall j = 1(1)r$

$$f_j / \prod_{i=1}^m d_{ij} = \beta \in \langle 0, 1 \rangle .$$

The general FP is that of finding an  $m$ -fuzzy point  $\{a^*\}_P$  such that

$$\{a^*\}_P \cdot c \geq \{a\}_P \cdot c, \quad \forall a \in R^m \quad (9)$$

where  $P$  is the fuzzy subset of solution of the

$$\begin{aligned} \{a\} \cdot a^j &\leq \{h_j, k_j\} && \text{for } j = 1(1)r, \\ \{a\} \cdot d^p &= \{l_p, f_p\} && \text{for } p = 1(1)s. \end{aligned} \quad (10)$$

It is clear that both the standard and canonical FPs are special cases of the general FP. Conversely, the general FP can transform into either of the others. To obtain a standard problem equivalent to the general problem above, we first obtain constraints involving only fuzzy inequalities by replacing the fuzzy equations in (10) above by the inequalities

$$\begin{aligned} \{a\} \cdot d^p &\leq \{l_p, f_p\}, \\ (-1) * \{a\} \cdot d^p \cdot (-1) &\leq (-1) * \{l_p, f_p\} \cdot (-1). \end{aligned} \quad (11)$$

Next, introduce new unknown  $n$ -fuzzy points  $\{a'\}$  and  $\{a''\}$  with the nonnegative supports and replace fuzzy inequalities (10) and (11) by

$$\begin{aligned}
(\{a'\} - \{a''\}) \cdot a^j &\leq \{h_j, k_j\} , \\
(\{a'\} - \{a''\}) \cdot d^p &\leq \{l_p, f_p\} , \\
(-1) * (\{a'\} - \{a''\}) \cdot d^p \cdot (-1) &\leq (-1) * \{l_p, f_p\} \cdot (-1)
\end{aligned} \tag{12}$$

and require that  $\forall a', a'' \in R_+^m$

$$(\{a'^*\}_P - \{a''^*\}_P) \cdot c \geq (\{a'\}_P - \{a''\}_P) \cdot c \tag{13}$$

The fuzzy points  $\{a'^*\}_P$  and  $\{a''^*\}_P$  satisfy the condition (13) subject (12) iff the fuzzy point  $\{a^*\}_P = \{a'^*\}_P - \{a''^*\}_P$  solves the original problem.

Lemma 1. Let  $\{a\}_P$  and  $\{d\}_{P'}$  are the feasible solutions of the standard fuzzy programmings FP and FP' respectively. Then

$$\{a\}_P \cdot c \leq \{d\}_{P'} \cdot b . \tag{14}$$

Proof. From (2) we have:  $\forall j$

$$\sum_i \{x_{ij}, a_{ij}\} \cdot \{a_i, \mu_P(a)\} \leq \{y_j, b_j\} \tag{*}$$

and from (2) we have:  $\forall i$

$$\sum_j \{x_{ij}, a_{ij}\} \cdot \{d_j, \mu_{P'}(d)\} \geq \{z_i, c_i\} \tag{**}$$

Multiplying (\*) by  $\{d_i, \mu_{P'}(d)\}$  and summing on j, and multiplying (\*\*) by  $\{a_i, \mu_P(a)\}$  and summing on i gives

$$\sum_i \{a_i, \mu_P(a)\} \cdot \{z_i, c_i\} \leq \sum_j \{d_j, \mu_{P'}(d)\} \cdot \{y_j, b_j\}$$

which means

$$\{a\}_P \cdot c \leq \{d\}_{P'} \cdot b .$$

Theorem 1. (optimality criterion). If there exist feasible solutions  $\{a'\}_P$  and  $\{d'\}_{P'}$  of the standard fuzzy programmings FP and FP' respectively such that

$$\{a'\}_P \cdot c = \{d'\}_{P'} \cdot b \tag{15}$$

then these feasible solutions are, in fact, optimal solutions

of their respective problems.

Proof. Let  $\{a\}_P$  be any other feasible solution of the FP. Then from the Lemma 1

$$\{a\}_P \cdot c \leq \{d'\}_{P'} \cdot b ,$$

and combining this with (15) gives

$$\{a\}_P \cdot c \leq \{a'\}_P \cdot c$$

showing that  $\{a'\}_P$  is an optimal solution. A symmetrical argument proves the optimality of  $\{d'\}_{P'}$ .

Let us note that theory of fuzzy programming presented in this paper is true for first and second kind inequalities. Unfortunately the fundamental duality theorem is true iff in the fuzzy programmings FP and  $FP'$  we have the second kind inequalities.

Theorem 2. ( fundamental duality theorem). If both a fuzzy program and its dual are feasible and are described by the second kind inequalities then both have optimal solutions and the values of the two fuzzy programs are the same. If either fuzzy program is infeasible then neither has an optimal solution.

Proof. From classical fundamental duality theorem we have that  $\text{supp} (\{a^*\}_P \cdot c ) = \text{supp} (\{d^*\}_{P'} \cdot b )$ .

We are going to prove that

$$\prod_{i=1}^m c_i / \mu_P(a^*) = \prod_{j=1}^n b_j / \mu_{P'}(d^*) .$$

Because  $\{a^*\}_P$  and  $\{d^*\}_{P'}$  are the optimal solutions of FP and  $FP'$  respectively, then there exist  $i$  and  $j$  such that

$$\mu_P(a^*) = b_j / \prod_{i',j'} a_{i'j'}$$

and

$$\mu_{P'}(d^*) = c_i / \prod_{i',j'} a_{i'j'} .$$

Note that, then

$$b_j = \min_{j'} b_{j'} \quad \text{and} \quad c_i = \min_{i'} c_{i'} .$$

So,

$$\prod_{i=1}^m c_{i'} \cdot \mu_P(a^*) = c_i \cdot b_j / \prod_{i',j'} a_{i'j'}$$

and

$$\prod_{j=1}^n b_{j'} \cdot \mu_{P'}(d^*) = b_j \cdot c_i / \prod_{i',j'} a_{i'j'} .$$

From classical fundamental duality theorem it follows that the second part of this theorem is true.

Theorem 3. (canonical equilibrium theorem). Let  $\{a^*\}_P$  be a solution with the nonnegative support of fuzzy equation

$$\{a\} \cdot A = b \quad (16)$$

and let  $\{d\}_{P'}$  be a solution of second kind inequalities

$$A \cdot \{d\} \geq c .$$

Then

$$\{a^*\}_P \cdot c \geq \{a\}_P \cdot c , \quad \forall a \in R_+^m$$

and

$$\{d^*\}_{P'} \cdot b \leq \{d\}_{P'} \cdot b \quad \forall d \in R^n \quad (17)$$

iff

$$a_i^* = 0 \quad \text{whenever} \quad A_i \cdot \{d\} > \{z_i, c_i\} ,$$

where  $A_i$  is the  $i$ -th row of  $A$ .

Proof. If (17) satisfied then we have

$$\begin{aligned} \{a^*\}_P \cdot c &= \sum_i \{a_i^*, \mu_P(a^*)\} \cdot \{z_i, c_i\} = \sum_i \{a_i^*, \mu_P(a^*)\} \cdot A_i \cdot \{d^*\}_{P'} = \\ &= \left( \sum_i \{a_i^*, \mu_P(a^*)\} \cdot A_i \right) \cdot \{d^*\}_{P'} = \{a^*\}_P \cdot A \cdot \{d^*\}_{P'} = b \cdot \{d^*\}_{P'} \quad (18) \end{aligned}$$

and therefore  $\{a^*\}_P$  and  $\{d^*\}_{P'}$  are optimal solutions.

Conversely, if  $\{a^*\}_P$  and  $\{d^*\}_{P'}$  are optimal then (18) follows

from the duality theorem, from which we get

$$\sum_i \{a_i^*, \mu_P(a^*)\} \cdot (A_i \cdot \{d\}_{P'} - \{z_i, c_i\}) = e$$

and since all terms in this sum have nonnegative support, condi-

tion (17) follows.

Theorem 4. (equilibrium theorem for standard FP). The feasible solutions  $\{a\}_P$  and  $\{d\}_{P'}$  of second kind inequality

$$\{a\} \cdot A \leq b$$

and of second kind inequality

$$A \cdot \{d\} \geq c,$$

respectively are optimal solutions iff

$$d_j = 0 \text{ whenever } \{a\} \cdot A^j < \{y_j, b_j\} \quad (19)$$

and

$$a_i = 0 \text{ whenever } A_i \cdot \{d\} > \{z_i, c_i\}, \quad (20)$$

where  $A^j$  is the  $j$ -th column of  $A$  and  $A_i$  is the  $i$ -th row of  $A$ .

Proof. First suppose conditions (19) and (20) hold. Then we have

$$\begin{aligned} \{d\} \cdot b &= \sum_j \{d_j, \mu_{P'}(d)\} \cdot \{y_j, b_j\} = \sum_j \{d_j, \mu_{P'}(d)\} \cdot \{a\} \cdot A^j = \\ &= \sum_j \{d_j, \mu_{P'}(d)\} \cdot \sum_i \{a_i, \mu_P(a)\} \cdot \{x_{ij}, a_{ij}\} \cdot \\ \{a\} \cdot c &= \sum_i \{a_i, \mu_P(a)\} \cdot \{z_i, c_i\} = \sum_i \{a_i, \mu_P(a)\} \cdot A_i \cdot \{d\} = \\ &= \sum_i \{a_i, \mu_P(a)\} \cdot \sum_j \{d_j, \mu_{P'}(d)\} \cdot \{x_{ij}, a_{ij}\} \cdot \end{aligned}$$

From this equalities it follows, that  $\{d\} \cdot b = \{a\} \cdot c$ .

Whence from Theorem 1  $\{a\}_P$  and  $\{d\}_{P'}$  are optimal solutions.

Conversely, let  $\{a\}_P$  and  $\{d\}_{P'}$  are optimal solutions.

Then from the duality theorem we have

$$\{a\}_P \cdot c = \{d\}_{P'} \cdot b.$$

So,

$$\begin{aligned} \sum_i \{a_i, \mu_P(a)\} \cdot \{z_i, c_i\} &= \sum_i \{a_i, \mu_P(a)\} \cdot \sum_j \{d_j, \mu_{P'}(d)\} \cdot \\ \cdot \{x_{ij}, a_{ij}\} &= \sum_j \{d_j, \mu_{P'}(d)\} \cdot \{y_j, b_j\}. \end{aligned}$$



From the first equation we have

$$\sum_i \{a_i, \mu_P(a)\} (\{z_i, c_i\} - \sum_j \{d_j, \mu_P(d)\} \{x_{ij}, a_{ij}\}) = e$$

but since  $\{d\}_P'$  is feasible it follows that

$$\text{supp} (\{z_i, c_i\} - \sum_j \{d_j, \mu_P'(d)\} \{x_{ij}, a_{ij}\})$$

is nonpositive and hence for each  $i$

$$\{z_i, c_i\} - \sum_j \{d_j, \mu_P'(d)\} \{x_{ij}, a_{ij}\} = e_i$$

from which (20) follows at once. A symmetrical argument proves condition (19).

Acknowledgments. This paper is the result of the work of the Seminar on Fuzzy and Interval Mathematics directed by Assoc. Prof. Jerzy Albrycht

#### References

- [1] S.I. Gass, Linear Programming (Mc Graw - Hill, New York, 1964).
- [2] E.L. Hannan, Linear programming with multiple fuzzy goals, Fuzzy Sets and Systems 6(1981), 235-248.
- [3] M. Matłoka, On fuzzy vectors and fuzzy matrices, Busefal n°19, 92-104.
- [4] W. Rodder and H.J. Zimmermann, Duality in fuzzy programming, Int. Symp. on Extremal Methods and Systems Analysis, University of Texas, Austin, TX (September 13-15, 1977).
- [5] H.J. Zimmermann, Fuzzy programming and linear programming with several objective functions, Fuzzy Sets and Systems 1(1978), 46-55.